ChNT EREBREERS

LBERBRASR
282 o) Y
Lo T

LFEBIERARRARERAH



CHNT EZHEBRESR

H =X

F£—E IFELNN(Intersenson BT vveeeeeeeeeenee. 1
(DR T - SRS 1
1.2 ZEBETEITA ceee oottt e, 1

(B2 By IR =T = TSRS 2
1.2.2 REETBIEIEERE oo 3
1.2.3 XiE. RIAERERIEERAE . i, 4
1.3 REEETRITE oo, 4

B B T oo 6
2. T B et 6
= 5 (D163 1= - TR 7
2.3 BB 2 e 8

B B B R e 10
B RO AL e, 10
3.2 KU BB 20 e, 11
3.3 RUAERLERZTEE oo, 12
3.4 HBA R B B Z2EE e, 13
3.5 IR R R BR A (e, 14
B8 AL oo, 14

3.6.1 ZEETFHRIED b e, 14
3.6.2 ZRFHARAHZRE o 15
3.7 ER(DC)EIEZREE oo 16

B BRI oo 18
N = o b 1 R UUSURRR 18
4.2 FEREREIETEEE oot 19
4.3 FERERUAEIELER oot 19



CHNT EZH=EBRESR

4.4 FEER N R RS e, 20
4.5 FEEIIE R RER v, 20
4.6 FEFEERSA85MIZELE oo, 21
4.7 FEFEDCHIEZE .o, 21
S I3 2 = 22
B BRI ..ottt 23
BARE FARBE .. 24
6.1 INtersensor S5 ..o 24
8.2 (BB B R oo 24
SRS D O == 25
FEEE ERIUE....ccooiooe e 26
T B RED e 26
7.2 B R e 26

7.3 FIBFEF (RIBFEFL) e 26



CENT EHmEBRESR

TR Z AT

W E D, R S W A 2 B BER B Y
(Intersensor). AFMEBENET R~ RMEH. ST, RE
SR M R AR IS T4 S T A IS
AR

MRS X e RS iRLIES RIRT HRH.

7= B
LREANBT IR T, BEAREAFHIGR AT RE
MEAMmERRERIA, KABFNRTURERIL.

ERAXR
AT RN R 2EA A RN TREARAR. REE
A TRIMURRERN.



CENT EHmEBRESR

F—E RERNY(ntersensor)EE1 43
1.1 §BRk

IREER MY (Intersensor) i@ 1T & F TR B ME KSR, STHIXY
APELIRIESTSRE . IRENRE .. BMAREE .. RER N ESIR
BSRHSIREN, BRI T SEREEED, BRNEHE
FEAER RN, WE 1-1 R

( 1~496&i% IR )

[ EBTFRBE
1afE
PC

P ( A 1] '
Q TS e
HESEERE
[m?mﬂw

( S31EINIERR )
5]

rlm‘ernel e [INTETViEW

feRiEasTEE PC

1-1 BN N RAETE

1.2 FFEHIA

AEmEIBERAINERE TRIXRERA NEXDE
RS EARFAA S0 KHRHAM — P AR ERE. HAME.
R e Rkas AT LU ML, MNRARWLRIEN @ ERkEs, B
BEERENZEKTARARARFIRELE, UAUARBLL RIS

SPEREAYEIKRRERTR, BT KN~ R
RARESTE, BAMf. MREAFTFTERLIMBVNTERR
NIV

F—8 MR (Intersensor) B4 1143



CHNT ERBIRTRS

1.2.1 ¥HERME
IV REAZ A E 1-2,

. F
B 12 Y BEERNYS
= 1-1

s | HE A
A 1 F AR AR RIS 38 E fFR2])
B 2 PT100;5E R k=5 (i B EKTH)
C 1 FH LR ER(TERET)
D 1 HinHERERER)
E 1 BEaRRSH. BIGXEL. 2]
F 1 L i

X AT F I, aASRMESEXE X A R MR R SUR,

W Wt

FERAFMRTREREN . NRANSEXE X 6 £ =285

RXR, RERERAFHRTENEREA.

H—&  IFERIN(Intersensor) Ak 43



CHNT EZREBREFRLR

1-3 IZRE M WA A

#*=1-2
Fs | & R
A 1 | BEXHR
B 1 | KEXZZE
C 1 | RHEZR
D 1 | BFE
8 | M3X12+Fi 2 LT
4 | M5X12+F &4 L1257
E 2 | M8X45xfkigie. B, B
2 | MBX75xfFkigie. B, #i i
1 | XENE

"Bt SR .

F—8 MR (Intersensor) B4 1143



CHNT
POWER

EFRBRR LR

1.2.3 M. NEERERBARE

MOE XEfeRRSFERBARSIBAELE 1-4.

1-4 f s B R AN BIER

#1-3
Fs | & A
A 1 X, [a) % 223
B 1 XIRfERxES
C 1 MR R k2SR 4
D 1 X, [0 % k28 FR 48
B KRR A R 23T A 5 o
13 RERENTIR
ZERAFBHEEFANIRFRIR 1-4:
=1-4
Fs AR A& P& 157 AR
1 —FUR22 7] 2# PE=M XUER & X B FR
2 +FHE22 7] 2# PIMIEMS+F &k

F—F INMERNY(Intersensor) BT




CENT EHmEBRESR

BRET
Mgt kiR 42 7] T20 A IRARET
F & 51 18-28AWG EE%EINE

T K EE6mm LIRS

o FRBAH TR
FHEh FhkHE9mm e
2 B R 2+
Vabi:Es < i
HFO#HRF 12mm X BEE 5T
FORF 14mm PHIEMB/N A SLIRET
SR EH B2k iz

F—8 MR (Intersensor) B4 1143




CHNT EZHEBREFRLR

BTE HHNA
EREEH X (Intersensor) A =L ERALE. kIR H
HR, FRNBAT
2.1 4
EASMUIE 2-1, WFREL 22, WFEEIE 2-1,

2-1 EHINRE
A Bk
B: K AMEAEHE

b ;:f .

e ]
R




CHNT EZREBREFRLR

= 2-1
Fg | wmF TiRE
A P1 ZE#E24V DCHE
B P10 A EEiEESTmA (0-5V, 0-10V,
4-20mA)
c Pg AEEcEESwA (0-5V, 0-10V,
4-20mA)
D p7 AEEEESHmA (0-5V, 0-10V,
4-20mA)
E P11 ZEERS485E (54
F P4 EE AR RE R (B EE)
G P9 EE X L RS
H P3 EENIE LS
| P6 EEIRERE Rk
J P5 ERERMURE RS

2.2 ER(DC)HIR
BERFEIRINIANE 2-3 fion, dm T K EBAFu ik 2-2.




ChNT EfHEBREF LR
3+ 2-2
Fs ThEE g
@ | OUTPUT L+, L- R
@) DC OK BRBFIETRAES L
@® | INPUTL, N, PE 3237 F I A\ i
ZEERISNHETEBEEESE,
OUTPUT OK -
@ ITEN S
® | OUTPUT Adjust b b B R 2
® Circuit diagram HETERERERE

2.3 fEREEIIR

feR IR EILE 2-4,

BRI




CHNT
POWER

EFRBRR

mo o w >
X 1
E‘,
A
oal
B

I

FE  BH

IR =]



CHNT EZH=EBRESR

B=FE BIRER
31 fERBILELHE
ERBRTENLETS DC BIFEIE, BREEASLREAH
Y A R S A S AR A 1 S 22
(1) BRNEPERELRAAIE L, ERBTERNRK
SRR IEREIRET, A 3-1;

JARALLT:

N
-\\_&:z%;{y

-. }]l U\/“H Nﬁ.ml

& 3-1 ﬁ’lﬁﬁ(éﬂﬁ:&i;ﬁﬂ_‘a &
(2) Rt EE St REAKERLE, FHA 12mm F O R FH)
£, RN MSX12 £ LB TR/KE IR E B B I AREEIT
P&, wWHE 3-2; N

3-2 PHEEREEIIR

10

BT BHI%R:

P



CENT EHmEBRESR

(3) B EAZENERMARERLENERINE, A
M8X75 t2te. B RBHREEZFER LA EETLE, FE
WRAEFREYRSHEEEHIE, WHE 3-3.

B 3-3 ZEMERmABILR
3.2 MEfERBRRK
(1) R REEREIFAMTER M3x12 ZKRETEEE KT

XHRE, RERNNFRIE=MHXMEREAKTE, NE 3-4;
|

11




CHNT EZHEBREFRLR

(2) K=MK EER 2z EEMRE LR L, a0
3-5;

3-5 M FEEF XA L
(3) FEXRHY P G 97 B KU L 8 5 EAHLARE R A
41, FEEEST RIS
33 REEBRRRE
(1) RS RESAREF R M3X12 LB RET
K ERERIURIE, REN SR SHEAE, i
& 3-6;

12




CHNT EZHEBRESR

(2) RRIPGRAREANR, T XAREEEME LTI
BE, PR EN R E R RN (=R, IEEE XA
Aok AL E, REMEBEERZ, WME 3-7;

& 3-7 RFXFREE TN LE
() EXZEMATEANMENEERRRI S EVHENE
4, FHiEF X AR RIS mAEL.
3.4 HMHURE ERRIBRK
£ ENMITEFE—DEBR, FRAREELETF, B
KR E 2 RS M R T MG T B S |, 2k 3-8,

3-8 RIRE LR TR L

BF=E BARK

13




(P SHNT ETRERER LR

3.5 MERERRBRK

R AR KRR Z R T EV ZREW L, K PT100 &
EERRBFARKELFEECENNVE, REER, ME
3-9,

: k.
Bl 3-9 ZEBREERBTENEZENRLE

3.6 EHREK

INMERAREARER L, O EERRAESARARE
to ENZRBE. SENRFSRAAHNZZBEMERE
GEIER
3.6.1 RETHRIERE

(1) FBfFAR M8x45 N fkigie . BMENFHF —H, HE
MZREWREETFRERE, 20E 3-10(a)fn 3-10(b);

m FREE
o

14




(@ SENT. EzmBRT LR

Q) BEEFERERRARE AN ENBEESRL,
M 311, fERBMELT RARMES L RS E —.

31 RAMERE
3.6.2 RRFHMARAHZRE
(1) BAREXRAHZR LT, BEEINRESRAR
N M8x45 <A kigte. BERBERTH, KRAENRAHR
XZ&E, E 3-12(a)Fd 3-12(b);

3-12(a) 3-12(b)
2) BEFTREENEINEEAEZREESRE, @
3-13, RRABHIBEAKRGERFIESN ERIZE —=,

15

BF=E BARK



(P SHNT ETRERER LR

3-13 ZRHE %5’@1‘&’73&£
3.7 ER(DC)RIRRNR
DC RRN 2 ZE N EINEXEFHNRFIARN, Nz
RAlae g 220V 22 m B R A M o
(1) BREIEEMNFEE LT, BERRSHRRESE
| EFHEE, WE 3-14;

3-14 [EEHIFESEH

16




(@ SENT. EzmBRT LR

(2) % DC HIREEER*<TH L, WE 3-15;

3-15 [EE DC B

(3) 32 220V HRZ 5| A DC HIR;

(4) EHEFEHER DR 50m B REREERBES
EVEMEEBES, MR_EFZEEEXRT 50K, BHFA
T, #FEHS ) SVT18AWGX2C B sMz/NF 6mm FYIX

* It FLRE SR 2L AT AN 485 [ 2% R AT HH IR

17

B BHRE

W
[
10



ChNT EfHEBREF LR

EUE RGIRE
ATENBMAEEBREATN, WTRE RS485 &
ESRFMARERE LRI
4.1 FTFFEM
(1) RASTER LTI ENEHIRET IR, S 4-1;

: . - s 'JA -
4-1 HITERE2Z
(2) FIFAENER, LE 4-2,

MM
‘ e

4-2 FTHENEW

18

ENE RRKRE



CHNT
POWER

EFRBRR

4.2 FEENIELRE
E RS EEB YR

M EN LER“WIND SPEED"B;

Kk, R P3 T, NEMBBEEEARTLS P3
AR

g% | P3gs&s | #n

a +5 TiERR

GND AR

# v+ Rt (e 5

B +5 AR

B GND R

QII/- R -+

1)1 ] AN

iR):

[ 4-3 RiEfeRas &t
Y2 X ) 1 88
B R A S

DIRCETIONBs7k %,

%5 PO TR XRMT(+5. GND HTRBHIFAE

%A YA

Bgk POE& S = phd
R +5 THERR
5 GND FH R
#H V+ RE#EmHEsS

BNE RRRE

o F A £ A “WIND
EER PO unT, XEERSIERR

19



CHNT EZH=EBRESR

+5 o BE AN FA R
TR FUR D

B 4-4 X0 2Rk ER B ke

FEmd R, XE2REEEdthE, MHLRENEH
IR N SR R TR, NARST A/ L E R A S HhE
EBRIT .

4 EEHEBTURRE RS

WREERRREERGBY TV E LA TEMP-1"F7KE
3k, EED PO uwmF, RERRESSIH&ERENTRMEEK,
BEMmREMATE.

B 4-5 BMHURE RS LiERE
4.5 EENFRRE RS
KWREFRSEEREBI IV E LN TEMP-2 "g5K
Bk, EEE PO un T, REERESS| B EERNTRMEEXK,
BEMHIREMATE.

20

ENE RRKRE



CENT EHmEBRESR

& 4-6 IMRIREERESE S NLER
i RS485 Bis4k
R RS485 EE4BY EHE EA"RS485"FKEEK,
22 P11 inf, 480 BEARTLE P im RN KXRAT:

itk PIMEZ& S pad
=fs D+ RS485+
55 D- RS485-
=E GND RS4851

& 4-7 RS485 B{E4&i&F#E
"BESELE: FRA N, BARNBEMIA 31, B
=R 4EE A 9600bps.
4.7 %4 DC BIRZ:
¥ 24V DC HRL& BT F 41 £ FA"POWERB7K %,
EEE P, EENFIRSHEEY “ "RNN, BERSEH
FHEBR MR RRE2Z, SERBEENNXRANT:

21

BNE RRRE




CHNT EZH=EBRESR
&k PlE%e | &%
#H +24V 24V R IEAR
GND 24V R AR

4.8 Bi7KEH

U)%%%&E,

SENEHFER

(2) REFENRRF

% 4-8 DC HRZkiER:

ZREVNERN. REANFLREEN
F4F, WINEDURIERIRET .

, IBTRIABI7KELZ R

E3E, K

G LRI = REZKERSL, 1BAKEREEFIUE.

HC
HC

22

= 1
)

& 4-9 Zeafrkizk

ENE RRKRE



CHNT
POWER

EFRBRR

ABFMEERN R ETHER

FLRE WERN

RABEFRSRL(WHE).

A, IBRITERBIFERRA

I & HETBE IR A HERERR T30

FE&BEXAE | Intersensorf B 5 | #ZHBR“BIESHR

Intersensorig & SERBIEHECE | B I EHEE
FIAENRERE

NRIRERREER

RRBEEARER

mE j7555.5 BEF -
SR
E ok R r | iR e | 1 LI
AR femeeEs
RREN5555 | Rl -

23

BHE WEEN




6.1 Intersensor &%

ERA

REILS T | RS485

ERBER

i FRE A
AR R 100 - 240V ac, 50/60Hz
EENE / R FRE 24Vdc / 14~28Vdc
s 1.44W

BERE

R =205 ~ +50%T

B EE IPES

Gl

i (g) 950

Btk AR RE)

B B 2 L]

S (AR R I e )
R )

Rt &

I e g o

@i C

RIS hd

oI ERCE oF[IERCE

6.2 ERIBSH

RS AR N IRIESTRE RS [ MRAMRE RS | AR LR R e kag R ke
L I : \ I I
BASH
Lk 4 L PT100 MR R R
TERE -40 ~ +85°C -20 ~ +110°C -40 ~ +80°C -40 ~ +80°C
NERERE 0~1500W/m? -20 ~ +100°C -20 ~ +85C 0~70m/s 0~360°
MBS +5% +0.1°C +0.1 m/s 0.1%
24
BRE BASH




CHNT EZREBREFRLR

6.3 DC HIRSH

WASE 100-240V AC/47-63Hz
WS 24V DC/1.25A
XX 43.5x88.5x115 (mm)
B8 0.29kg

LRI BEASMER
LIRINE =W

T1EINE -25—70°C

FEiPE R IP20

25




CHNT EZH=EBRESR

FtE RERIL

7.1 FRER

AEEmBfREAA 24 MR, BIREHEITE 2418, &
aRANEN, ®RBEEMERFRRARIT,
7.2 REHRR

1. BHE P RRE,

2. BEARFMAENIE TIET;

3. FmEATERITEE (BRREMEA);

4. REFRIE B E o™= m el i AV

5. ZMEmEXEFEEENREeEEMEREENR
ERE;

6. &L TORTUER R SR ATHTIE A SR L.
7.3 REBFRK (REFFK)

1. RIREAR A EHPER =M, AR RBEHEERERE
T

2. ETHAEENFREIREANT,;

3. HRMARAKRBRENSGENE.

MRER X TFIHRERWL(Intersensor) FEM EIEIF
S5EMNEKR, BIVGEBRBNERS.

26

R

FtE RERIE

H



LEBERBBEREBRAA

RER: HE ST IX AR 855 5 4 5%
SA: +86-021-37791222

fEE: +86-021-37791222-6001

Mik: www.chintfpower.com

BRS#zk: 021-37791222-6300

MRF5: service.cps@chint.com

IEZRERAGIME RN (L ZFEEM S (BOM 9.0020.0020C0) 5E—
IXENR o
NEWERE, BAHITEH; WRIFE, ZIHEFARERNEFEIM

B



CHNT
POWER

CPS Intersensor

Installation and Operation Manual

SHANGHAI CHINT POWER SYSTEMS CO,, LTD.



CHNT

POWER
Contents
Chapter 1 General Introduction of Intersensor ........... 1
1.1 OVEIVIEW ..o 1
1.2 Packing confirmation............cccccoooviiiiiiiieeeeen, 1

1.2.1 Packing list of Intersensor key components ... 2
1.2.2 Packing list of sensor mounting bracket

(o] o) (o) o =1 ) I 3
1.2.3 Packing list of wind speed and direction sensor

(o] 0] (o] o =1 ) IS 4
1.3 Tools for installation ............c.cccooeiiiii i 4
Chapter 2 Description of partS.......cccooeeeiviiiiiieciineeennn. 6
2.1 Intersensor BOX......couiiiiiiiii e 6

A DO o To )Y =T R =TV o] o] V2R 7

2.3 Sensor mounting bracket............cccccceiiiiiiiiiiiee. 8
Chapter 3 Installation..........ccccooeiiiiii i 10
3.1 Mounting of sensor support............cccceeeeiiieeennnn... 10

3.2 Mount the wind speed sensor...........cccccceeeeenneeen. 12

3.3 Mount the wind director sensor ..............c.c...c....... 13

3.4 Install the PV panel temperature sensor............... 14

3.5 Install the ambient temperature sensor ................ 15

3.6 Mount the Intersensor BOX........ccooeiiiiiiiiinnnns. 15
3.6.1 Mounting on the diagonal supporting arm .... 15

3.6.2 Mounting on the PV panel bracket ............... 16

3.7 Mounting of DC power supply .......ccoevveiierinnnnnnn.e. 17



CHNT

POWER
Chapter 4 Intersensor system connection ................ 20
4.1 Open the Intersensor BOX.........cooveiiiiiiiiiiiennnn. 20
4.2 Connect wind speed Sensor.........ccccceeeeevneeennnnnnn. 21
4.3 Connect wind direction sensor ...............cccceeeeeeen. 21
4.4 Connect the PV panel temperature sensor .......... 22
4.5 Connect the ambient temperature sensor............ 23
4.6 Connect RS485 communication cables................ 23
4.7 Connect DC power cable .........ccccoevevveiiniinnnnnnnn. 24
4.8 Sealing of waterproof terminals............................ 25
Chapter 5 Troubleshooting ........c.cccoeveiiiiiiiiicceeeee, 26
Chapter 6 Technical Parameters .........c...cccceevevevnenn, 27
6.1 Intersensor parameters .........ccccoeeeiiiiiiiniien e, 27
6.2 Sensor parameters........cc.coeevieeiiiiei e 27
6.3 DC power supply parameters.............cccceeeeevnnnnenn. 28
Chapter 7 Quality warranty ..........cccoeeeeeiiieiiiieeiieeeen, 25
7.1 Warranty period.........ccooeiiiiiiiiiieie e 25
7.2 Disclaimer ..o, 25

7.3 Quality terms (warranty terms) ...........ccccceeveeeennnnn. 25



CHNT
POWER

Before You Start...

Dear customers, thank you for choosing the Intersensor
product of our company. This manual mainly focuses on the
structure, appearance, installation, configuration and
troubleshooting, etc. of the Intersensor.

Caution

For the wiring of wind speed and direction sensors,
please refer to the manual of original manufacturer.

Statement

Please read this manual carefully before installation.
The warranty will be invalid for any damage of the
Intersensor system due to improper installation and
operation.

Target users

This manual is prepared for engineering and technical
personnel, system integration suppliers, engineers and end
users who use the Intersensor.



CHNT
POWER

Chapter 1 General Introduction of
Intersensor

1.1 Overview

Intersensor is used to achieve real time monitoring of
the environmental parameters including solar radiation,
ambient temperature, PV panel temperature, wind speed
and direction etc through various preset sensors. At the
same time, convenient communication interfaces are
provided to upload the detection data to the remote
monitoring terminal, as shown in Figure 1-1.

Interview [ Email

internet = | (1~496 inverters)
- SMS
PC
/ Q 0 I
+ ‘ Interlink GSM/GPRS/3G Modem SMS
Intersensor Box Intervi [ Email

view| (231 inverters)

e

PC

Sensor frame

Fig 1-1 Diagram of Intersensor System

1.2 Packing confirmation

The product package consists of a string of 50 meter
long power line and 3 small packages inside, which are key
components of Intersensor, mounting brackets, wind speed
and direction sensors. The wind speed and direction sensors
are optional for sale. Besides, if the Intersensor is mounted
on the PV panel bracket, the mounting brackets are optional
as well.

There is a checklist in each product package. Please

1

Chapter 1 General introduction of Intersensor



CHNT
POWER

contact the supplier if the product or components are

incomplete or damaged.
1.2.1 Packing list of Intersensor key components

The intersensor key components are shown in Fig 1-2.

Fig 1-2 ltems inside the main package

Table 1-1
Label | Qty Description
A 1 Intersensor BOX integrated with solar radiation
sensor
PT100 temperature sensor (with black
B 2 :
adhesive tape)
C 1 Intersensor BOX mounting backboard (with
screws)
D 1 | DC power supply (separate package)
1 DC Power supply mounting guide rail, cable
terminals and screws
F 1 | Installation and Operation Manual

Remark: For item F, if the wind speed & direction
sensors and mounting brackets are purchased, the user

2

Chapter 1 General Introduction of Intersensor




CHNT
POWER

manual will be put inside the product package instead of the
key components package.
1.2.2 Packing list of sensor mounting bracket (optional)

Components in the mounting bracket package are

shown in Fig 1-3.

Fig 1-3 Key components of mounting bracket

Table 1-2

Label

Q
<

Description

Vertical support

Horizontal support

Diagonal supporting arm

OO

lightning rod

M3X12 cross recessed pan head screws
M5X12 cross recessed pan head screws
M8X45 hexagonal bolts, nuts and gaskets
M8X75 hexagonal bolts, nuts and gaskets
Supporting steel tube

=S INNDINIDIO| A |

*The manual of mounting bracket is enclosed.

Chapter 1 General introduction of Intersensor



CHNT
POWER

1.2.3 Packing list of wind speed and direction sensor
(optional)

Key components in the package are shown in Fig. 1-4.

Fig 1-4 Key components inside the package

Table 1-3
Label Qty Description
A 1 Wind speed sensor
B 1 Wind direction sensor
C 1 Cables of wind speed sensor
D 1 Cables of wind direction sensor

*The manual of wind speed and direction is enclosed.

1.3 Tools for installation

Tools for the installation of this product are shown in

Table 1-4:

Chapter 1 General Introduction of Intersensor




CHNT

POWER
Table 1-4
Sﬁgal Description | Specification Application
. For wind speed
1 Stralght 2# and direction
screwdriver
Sensors
Cross head For M3 and M5
2 ) 2# cross-shaped
screwdriver
SCrews
Spline For screws on the
3 screwdriver T20 mounting
backboard
4 Wire stripper | 18-28AWG For signal wires
drilling head | For mounting lead
5 Impact drill of 6mm rail of power
diameter supply
: drilling head For mounting
Electric
6 hand drill of 9mm Intersensor box on
diameter PV panel bracket
7 Multimeter Measure polarity
of power output
8 Open end 12mm Secure lightning
wrench rod
9 Open end 14mm For M8 hexagonal
wrench screws
10 Sharp-nose Cut and connect
pliers wires

Chapter 1 General introduction of Intersensor




CHNT
POWER

Chapter 2 Description of parts

Intersensor system consists of Intersensor BOX, DC
power supply and sensor support. The following is the
detailed introduction.

2.1 Intersensor BOX

The intersensor box is shown in Fig. 2-1. The internals
are shown in Fig. 2-2.

Fig 2-1 Appearance of Intersensor BOX
A: Waterproof connection terminal

B: Integrated sunlight irradiation strength sensor
T q

By
|
L
|

1|

&l

Fig 2-2 Internals of intersensor BOX

Chapter 2 Description of parts



CHNT
POWER

The terminal connections are shown in Table 2-1.

Table 2-1
Location Te;\lmlnal Description
0.

A P1 Connect to 24V DC power supply

Can connect to standard signal
B P10 | input (0-5V, 0-10V 4-20mA)

Can connect to standard signal
C P8 input (0-5V, 0-10V 4-20mA)

Can connect to standard signal
D P7 input (0-5V, 0-10V 4-20mA)

Connect to RS485 communication
E P11 cable

Connect to sunlight radiation
F P4 strength sensor
G P9 Connect to wind direction sensor
H P3 Connect to wind speed sensor

Connect to ambient temperature
| P6 sensor

Connect to PV panel temperature
J PS5 sensor

2.2 DC power supply

The appearance of DC power supply is shown in Fig.

2-3. Terminals and components are shown in Table 2-2.

Chapter 2 Description of parts




‘4 CHNT
£ POWER

Fig 2-3 Diagram of DC power supply
Table 2-2
Location Function Description
@® OUTPUT L+, L- DC output
@ DC OK DC working status output
® INPUT L, N, PE AC input
@ OUTPUT OK Output voItagg is n_ormal
when green light is on
® OUTPUT Adjust Output voltage trimmer
® Circuit diagram Power supply working
principle diagram

2.3 Sensor mounting bracket

The sensor mounting bracket is shown in Fig. 2-4.

Chapter 2 Description of parts




CHNT
POWER

Fig 2-4 Sketch of mounting bracket

A: Lightning rod

B: Wind speed sensor mounting position
C: Wind direction sensor mounting position
D: Intersensor BOX mounting position

E: Bracket secure position

Chapter 2 Description of parts



CHNT
POWER

Chapter 3 Installation
3.1 Mounting of sensor support

The sensor bracket should be mounted on the PV panel
bracket near the DC power supply and should not create a
shadow on the PV panels.

(1) Secure the diagonal supporting arm at the PV panel
bracket. Screws of PV panel bracket should be used, as
shown in Figure 3-1.

PV panel

\/ / {
PV panel bracket

\/

Fig 3-1 Securing diagonal supporting arm on PV panel bracket

(2) Secure the lightning rod on the horizontal supporting
arm and tighten with the 12mm open end wrench; Use
M5X12 pan head screws to secure the horizontal and
vertical supporting arms, as shown in Figure 3-2.

10

Chapter 3 Installation



CHNT
POWER

R

Fig 3-2 Connecting lightning rod and supporting arms

(3) Put the supporting steel tube through the
waist-shaped hole on the diagonal supporting arm and use
M8X75 bolts, nuts and gaskets to connect the upper section
of the diagonal supporting arm with the vertical arm.

Then adjust and secure the vertical supporting arm 90
degree to the ground, as shown in Figure 3-3.

Fig 3-3 Connection between vertical and diagonal arms
1

Chapter 3 Installation



CHNT
POWER

3.2 Mount the wind speed sensor

(1) Secure the wind speed sensor with M3X12 pan head
screws on the horizontal supporting arm. Make sure that the
clover leaf wind cup is parallel with the ground, as shown in
Figure 3-4.

Fig 3-4 Mounting wind speed sensor

(2) Secure the clover leaf wind cup to the axle above the
cup with a screwdriver, as shown in Figure 3-5.

Fig-3-5 Securing clover leaf on the wind cup

(3) Allocate the cables within the hollow tubes of the

12

Chapter 3 Installation



CHNT
POWER

supporting arms to connect the wind speed sensor with the
Intersensor BOX and terminate the cables on the wind
speed sensor end.

3.3 Mount the wind director sensor

(1) Secure the wind direction sensor with M3X12 pan
head screws on the right side of the horizontal supporting
arm. Make sure that the cup is parallel with the ground, as
shown in Figure 3-6.

Fig 3-6 Mounting wind direction sensor

(2) Insert the wind vane into the rotating axle and secure
the wind vane on the axle above the cup with a screwdriver.
Then switch on the DC power for the Intersensor BOX and
the detector monitoring software. Adjust the head of wind
vane to the north direction and tighten the screws, as shown
in Figure 3-7.

13

Chapter 3 Installation



CHNT
POWER

Fig 3-7 Securing wind vane on the cup

(3) Allocate the cables within the hollow tubes of the
supporting arms to connect the wind direction sensor with
the Intersensor BOX.

3.4 Install the PV panel temperature sensor

Choose a PV panel with the back cleaned near the
Intersensor BOX. Attach the temperature sensor on the back
of PV panel with tape, as shown in Figure 3-8.

Fig 3-8 Installing temperature sensor on PV panel

14

Chapter 3 Installation



£4 CHNT
A POWER

3.5 Install the ambient temperature sensor

Secure the waterproof terminal on the backboard of the
Intersensor BOX. Then put the PT100 temperature sensor
through the waterproof terminal and adjust to the appropriate
position and tighten the rear cap, as shown in Figure 3-9.

Fig 3-9 Installing ambient temperature sensor

3.6 Mount the Intersensor BOX

Intersensor BOX can be mounted on the diagonal
supporting arm and can also be directly mounted on the
support of the PV assembly. The mounting angle and
orientation of the Intersensor BOX should be the same as
the mounting angle of the PV assembly.

3.6.1 Mounting on the diagonal supporting arm

(1) Secure the mounting backboard of Intersensor BOX
on the diagonal supporting arm with two groups of M8X45
hexagonal head bolts, nuts and gaskets, as shown in Figure
3-10(a) and 3-10(b).

15

Chapter 3 Installation



£4) ChHNT
& POWER

Fig 3-10(a) Fig 3-10(b)

(2) Configure the Intersensor BOX and make sure that
all the sensors are well connected before securing the BOX
on the backboard, as shown in Figure 3-11. Please refer to
“Intersensor system connection” for the wiring of sensors
and system configuration.

Fig 3-11 Mounting Intersensor BOX on diagonal supporting arm

3.6.2 Mounting on the PV panel bracket

(1) Drill holes on the PV panel bracket and mount the
mounting backboard of the Intersensor BOX on the PV panel
bracket with two groups of M8X45 hexagonal bolts, nuts and

16

Chapter 3 Installation



£4 ChHNT
A POWER

gaskets, as shown in Figure 3-12(a) and 3-12(b)

Fig 3-12(a) Fig 3-12(b)

(2) Secure the Intersensor BOX connected with the
sensors on the backboard, as shown in Figure 3-13. Please
refer to “Intersensor system connection” for the wiring of
sensors and system configuration.

N\

Fig 3-13 Mounting intersensor BOX on PV panel bracket

3.7 Mounting of DC power supply

DC power supply should be mounted inside the control
box indoors or outdoors with good ventilation. It should be
near the 220V AC power supply and Intersensor BOX as

17

Chapter 3 Installation



much as possible.

(1) Drill holes on the chosen cabinet and secure DC
power guide rail on bearing surface, as shown in Figure
3-14.

Fig 3-14 Securing guide rail on bearing surface

(2) Secure the DC power supply on guide rail, as shown
in Figure 3-15.

Fig 3-15 Mounting DC power supply

(3) Connect 220V AC power cables to the DC power

supply.
(4) CPS provides a 50m power cable to connect DC
power supply with the Intersensor BOX. Customer can

18

Chapter 3 Installation



CHNT
POWER

purchase power cables longer than 50m if necessary. The
recommended type of cable is SVT18AWGx2C or double
core cable (<6mm outer diameter).

*The power cables can be installed with RS485 network
cables together.

19

Chapter 3 Installation



CHNT
POWER

Chapter 4 Intersensor system connection

In this chapter, the sensor connection to Intersensor
BOX, configuration of RS485 communication parameters
and calibration of wind direction sensor orientation are

described.
4.1 Open the Intersensor BOX

(1) Disassemble the backboard of Intersensor BOX
with a spline screwdriver, as shown in Fig. 4-1.

Fig 4-1 Remove the backboard

(2) Open the Intersensor BOX, as shown in Fig.4-2

Bl sl
e
2
283

Fig 4-2 Internals of Intersensor BOX

20

Chapter 4 Intersensor system connection



CHNT
POWER

4.2 Connect wind speed sensor

Connect the wind speed sensor connection cables to P3
terminal through “WIND SPEED” waterproof terminals on the
BOX. The corresponding relationship between the
connection cable core wires of the wind speed sensor and
P3 terminal is shown in the table below:

Core wires | P3 connection No. | Remarks

Red +5 Working power supply
Black GND Power supply grounding
Yellow V+ Wind speed output signal
Brown +5 Power supply for heating
Blue GND Power supply grounding

Fig 4-3 Wiring of wind speed sensor

4.3 Connect wind direction sensor

Connect the wind direction sensor connection cables to
P9 terminal through “WIND DIRECTION” waterproof
terminal on the BOX. The corresponding relationship
between the sensor connection cable core wires and P9
terminal is shown in the table below (+5 and GND are
reserved power supply for heating):

21

Chapter 4 Intersensor system connection




CHNT

POWER
Core P9 Connection
Remarks
water No.
Brown +5 Working power supply
Blue GND Power supply Grounding
Yellow V+ Wind direction output signal
+5 Reserved power supply for
heating
GND Reservgd power  supply
grounding

Fig 4-4 Wiring of wind direction sensor

*The wind direction had been calibrated to direct to the
north before the product is released from the factory. The
Intersensor monitoring software should be used for
adjustment during installation on site. The wind vane only
needs to be directed to N, inserted into the rotating axle and
secured.

4.4 Connect the PV panel temperature sensor

Connect the PV panel temperature sensor connection
cable to P5 terminal through the “TEMP.-1” waterproof
terminal on the BOX. No polarity is required for the
compression connection of the temperature sensor cable.
But make sure that the contact is reliable.

22

Chapter 4 Intersensor system connection




74 CHNT
A POWER

Fig 4-5 Wiring of PV panel temperature sensor

4.5 Connect the ambient temperature sensor

Connect the ambient temperature sensor connection
cable to P6 terminal through “TEMP.-2” waterproof terminal
on the BOX. No polarity is required for the compression
connection of the temperature sensor cable. But make sure
that the contact is reliable.

Fig 4-6 Wiring of ambient temperature sensor

4.6 Connect RS485 communication cables

Connect RS485 communication cables to P11 terminal
through “RS485” waterproof terminal on the BOX. The
corresponding relationship between 485 communication
cable core wires and P11 terminal is shown in the table
below:

23

Chapter 4 Intersensor system connection



CHNT

POWER
Signal cables | P11 connection No. Remarks
White-orange | D+ RS485 +
White-green | D- RS485 -
White-brown | GND RS485 grounding

— GND PII
=
B — D+ Rsis5

Fig 4-7 Wiring of RS485 communication

*Configuration of communication parameters: The
default communication address is 31 when the product is
released from the factory. The communication baud rate is
9600bps.

4.7 Connect DC power cable

Connect 24V DC power cable to P1 terminal through
“POWER” waterproof terminal on the BOX. Pay attention to
the corresponding relationship of various signal cables.
Otherwise, the SMD fuse on the main circuit board will burn
out. The corresponding relationship of the core wires
compression connections are shown in the table below:

Core wires P1 connection No. Remarks
Yellow-white | +24V 24V +
Black GND 24V -

24

Chapter 4 Intersensor system connection



CHNT
POWER

D ——

— 424V P1
= GND

D —

Fig 4-8 Wiring of DC power

4.8 Sealing of waterproof terminals

(1) Close the Intersensor BOX after cables are well
connected. Make sure that the BOX is sealed with strips
before the screws on the back are tightened.

(2) Confirm that the waterproof terminals are tightened
properly after Intersensor BOX is closed. Plug the vacant
terminals with waterproof plugs.

L o 1]
e B

Fig 4-9 Installing waterproof terminals

25

Chapter 4 Intersensor system connection



CHNT
POWER

Chapter 5 Troubleshooting

Please call after-sales service hotline of Chint Power
Systems Co., Ltd. if you encounter any malfunctions not
covered in this section.

Malfunctions Possible Troubleshooting
causes

Background Intersensor’s Configure according
monitor cannot | communication | to “‘communication
detect parameters are | parameters
Intersensor not configured | configuration®
device properly
Background Ambient Open the BOX and
monitor indicates | temperature check whether the
ambient sensor is not | connection of
temperature connected temperature sensor is
555.5 properly correct.
Background Panel Open the BOX and
monitor indicates | temperature check whether the
panel sensor is not | connection of
temperature connected temperature sensor is
555.5 properly correct.

26

Chapter 5 Troubleshooting




CHNT
POWER

Chapter 6 Technical Parameters

6.1 Intersensor parameters

Communication

Data Logger Communication ‘ RS485

Power Supply

Power Supply Power Adapter
Input Voltage (Adapter) 100 ~ 240Vac, 50/60Hz
Input Voltage (Intersensor) 24Vdc / 14~28Vdc
Power Consumption 1.44W
Environmental Conditions in Operation

Ambient Temperature -20°C ~ +50°C
Ingress Protection IP65
Mechanical Data

WxDXH(mm) 140x43% 100
Weight(g) 950
Accessories

Irradiation Sensor [ ]

Module Temperature Sensor [ ]

Ambient Temperature Sensor [ ]

Wind Speed Sensor O

Wind Direction Sensor O

Sensor Frame O

Power Adapter [ ]

e Standard configuration o Optional configuration

6.2 Sensor parameters

Sensor Irradiation Module Temp. Ambient Temp.| Wind Speed Wind Direction

Type Sensor Sensor Sensor Sensor Sensor
Technical Data

Material Polysilicon PT100 Plastic Plastic
Working Temp. -40 ~ +85°C -20 ~+110°C -40 ~+80°C -40 ~ +80°C
Measuring Range 0~1500W/m? -20 ~+100°C -20 ~ +85°C 0~70m/s 0~360°
Measuring Accuracy| +5% +0.1°C +0.1 m/s 0.1%

27

Chapter 6 Technical Parameters




CHNT
POWER

6.3 DC power supply parameters

Input Parameter

100-240V AC/47-63Hz

Output Parameter

24V DC/1.25A

WxHXxL 43.5x88.5x115 mm

Weight 0.29kg

Installation Type Wall type guide rail mounting
Mounting location Indoors

Operating Temperature Range | -25~70°C

Protection Degree P20

28

Chapter 6 Technical Parameters




CHNT
POWER

Chapter 7 Quality warranty
7.1 Warranty period

The warranty period of this product is 24 months, i.e. 24
months after the installation date. Specific warranty period
abides by the contract agreement.

7.2 Disclaimer

1. Damage during transportation;

2. Operating in conditions beyond those specified in this
manual;

3. Product used incorrectly or improperly (including
installation and operation);

4. Modify the product or software without prior
authorization;

5. Neglect the safety warnings in the product and
documents and safety specifications in the applicable laws
and regulations;

6. Occurrence of unforeseen disasters or force majeure;

7.3 Quality terms (warranty terms)

1. We will repair for free or replace with new products for
products that have malfunctions within the warranty period.

2. The replaced non-conformance product should be
returned to our company.

3. Reasonable time should be provided for us to repair
the equipment.

25

Chapter 7 Quality Warranty



CHNT
POWER

Please do not hesitate to contact us if you have any
guestion about the Intersensor. We are willing to
provide the best service for you.

26

Chapter 7 Quality Warranty



SHANGHAI CHINT POWER SYSTEMS CO., LTD.

Headquarters: Building 4, No. 855, Wenhe Road,
Songjiang District, Shanghai, China

Service hotline: +86-021-37791222-6300

Email: service.cps@chint.com

Fax: +86-021-37791222-6001

Website: www.chintpower.com

CPS Intersensor Installation and Operation Manual (PN:
9.0020.0020C0) is printed for the first time.

This manual is subject to change without prior notification. Copyright is
reserved. Duplication of any part of this issue is prohibited without
written permission.





